INSTALLATION INSTRUCTIONS | FIXTURE SERIES: STANCE MOUNTING TYPE: PENDANT PAGE: 1 OF 12
FIXTURE WEIGHT CHART STEM J-BOX QUANTITY
7 S ID/1/D ... |Dimming/ Nightlight / Spectrasync
- 7=" -— Circuiting J-Box Qty
" 8 LENGTH | TYPICAL (LBS) [ MAX(LBS) | TYPICAL(LBS)| MAX (LBS) DALI Emergency (-2765T)
B ! - 2 6.5 7.5 8.5 10.0 1C No  |None, EF,NL EF+NL|  No 1
a8 % + 3 9.5 10.5 12.5 13.5 1C Yes None No 1
+ 0 4 11.0 12.5 14.0 16.0 1C Yes EF, NL, EF+NL No 2
3. 2i" 6' 15.0 17.0 19.0 22.0 1C Yes None, NL Yes 2
! 4 16 8' 18.0 19.5 23.0 25.5 2C No None No 1
2C No EF No 2
CROSS SECTION CROSS SECTION | >C Yes None, EF No 5
PLPSI AR PSI 2C Yes None Yes 2
For 2Cw/ NL, see Applications layout for J-Box quantity
DUST COVER (OPTIONAL)
DUST COVER (OPTIONAL) 8 /N/A FOR PD INDIVIDUAL (IND) |
N/A FOR PD — FA = FIXTURE LENGTH MINUS 9/16" =]
r = = 'I" =T P = FIXTURE LENGTH MINUS 1"
DO NOT EXCEED5°
STEM—/ AIRCRAFT CABLEJ FEED CORD AFTER INSTALL
CROSS SECTION “—LENS N/AFOR P! CROSS SECTION ™~ LENS N/A FORPI (ACC)
PL PID/PI/PD MATTE-SIDE VISIBLE FROM ROOM-SIDE AR PID/PI/PD MATTE-SIDE VISIBLE FROM ROOM-SIDE / i
LPA OPTION SHOWN FOR REFERENCE STD OPTION SHOWN FOR REFERENCE 4
SIDE VIEW

END-OF-ROW LEFT (EORL)
—- FA = FIXTURE LENGTH MINUS 9/16" {

INTERMEDIATE (INT)
FIXTURE LENGTH

INDIVIDUALLY MOUNTED FIXTURE
END-OF-ROW RIGHT (EORR)

FIXTURE LENGTH

P = FIXTURE LENGTH MINUS 1" - -
\
AIRCRAFT CABLE DO NOT EXCEED 5° <
FEED CORD —
(ACC) AFTER INSTALL
i i i
GENERAL NOTES: SIDE VIEW

READ SHEETS COMPLETELY BEFORE STARTING.

1. LEAVE PROTECTIVE WRAPPING MATERIAL ON FIXTURE(S) UNTIL START OF INSTALLATION TO PROTECT FINISH FROM DAMAGE.

ROW MOUNTED FIXTURES

2. IF LENS IS DISPLACED DURING SHIPPING, GENTLY & FIRMLY APPLY PRESSURE FROM BELOW TO SHIFT BACK INTO PLACE. OTHERWISE, REFER TO STEP 5.
3. FA REFERS TO CORD & CABLE MOUNT. P REFERS TO STEM MOUNT.
4. REFER TO SUPPLEMENTAL INSTRUCTION SHEETS: 510401 FOR WIRING CONNECTIONS, 510541-08 FOR CABLE SUSPENSION, 99009870 FOR STEM SUSPENSION. TOOLS REQUIRED SUPPLIED BY INSTALLER
5. FA ONLY: FOR INDIVIDUAL FIXTURE, FEED CORD IS FACTORY INSTALLED AT LEFT-END OF IND FIXTURE (AS SHOWN IN SIDE VIEW).
FOR ROW MOUNTED FIXTURES, FEED CORD IS FACTORY INSTALLED ONLY AT LEFT-END OF EORL FIXTURE (AS SHOWN IN SIDE VIEW). IF REQUIRED, ADDITIONAL jffENVL\J’?E'::/&DR'LL
FEED CORDS ARE SUPPLIED BY LITECONTROL & FIELD INSTALLED BY CONTRACTOR. -3/8 NUT DRIVER OR WRENCH
6. P ONLY: WIRING FOR STEM MOUNT PROVIDED BY LITECONTROL & FIELD INSTALLED BY CONTRACTOR. STEM CAN ACCOMMODATE 5-CONDUCTORS MAXIMUM. L/E 1E6DT§Lg§éVPEL'TE‘;E WRENCH
7. FOR BATTERY OPTION (-EF), MAXIMUM FIXTURE MOUNTING HEIGHT FROM FLOOR IS 9.2FT FOR S| & 16.9FT FOR ID/D. EF NOT AVAILABLE FOR I. “BUBBLE LEVEL

LlTECONTROI_ litecontrol.com WAY, OR INSTALL IN ANY FASHION WHICH IS CONTRARY TO THE INSTRUCTIONS CONTAINED HEREIN. IF YOU HAVE ANY QUESTIONS REGARDING THIS PRODUCT OR THE
INSTALLATION OF IT, PLEASE CALL LITECONTROL ENGINEERING AT 781-294-0100

CAUTION: INSTALL FIXTURES IN ROW ONE BY ONE. DO NOT ASSEMBLE FIXTURES ON GROUND AND LIFT INTO PLACE. DO NOT MODIFY OR ALTER THIS PRODUCT IN ANY DRAWING: 99009705

REV / DATE: D / 02-21-2025




INSTALLATION INSTRUCTIONS

FIXTURE SERIES: STANCE

MOUNTING TYPE: PENDANT PAGE: 2 OF 12

1 |SUSPENSION

AIRCRAFT CABLE
(ACC)

BOTTOM EXIT

(TRIM EXCESS)

FA ONLY

AIRCRAFT CABLE (FA):
NOTE: FOR ROW MOUNTED FIXTURES, START WITH
EORL FIXTURE.

1A. TRIM AIRCRAFT CABLE (ACC) TO DESIRED LENGTH.

1B. LIFT FIXTURE & INSERT ACC INTO GRIPPER.
NOTE: LITECONTROL RECOMMENDS ACC EXTEND
BETWEEN 1/8" TO 1/2" FROM GRIPPER.

1C. LEVEL FIXTURE BY ADJUSTING GRIPPER SIDE-TO-SIDE
& ADJUSTING LENGTH OF ACC. TIGHTEN ALL
GRIPPERS.

1D. REFER TO CABLE INSTRUCTION SHEET 510541.
1E. FOR INDIVIDUAL FIXTURES, INSTALLATION IS

COMPLETE.
FOR ROW MOUNTED FIXTURES, PROCEED TO STEP 2.

ACC EXTENDS 1/8"-1/2"

WIREWAY COVER

#8-32 SMS

WIRING /

COMPARTMENT SLOTIN
1/8IP NUT HOUSING
STEM (P):

NOTE: FOR ROW MOUNTED FIXTURES, START WITH
EORL FIXTURE.

1A. SKIP TO STEP 3A TO REMOVE WIREWAY COVER AT
STEM LOCATIONS.

1B. REFER TO STEM INSTRUCTION SHEET 99009870.

1C. LIFT FIXTURE & ROUTE WIRES IN STEM THROUGH
SLOT IN HOUSING.

1D. ATTACH FIXTURE TO STEM WITH 1/8IP NUT. LEVEL
FIXTURE BY ADJUSTING FIXTURE SIDE-TO-SIDE.

1E. MAKE WIRE CONNECTIONS & TUCK INTO WIRING
COMPARTMENT.

1F. FOR INDIVIDUAL FIXTURES, SKIP TO STEP 3C TO RE-
ATTACH WIREWAY COVER, THEN INSTALLATION IS
COMPLETE.
FOR ROW MOUNTED FIXTURES, PROCEED TO STEP 2.

2 | WIRING CONNECTIONS

——END OF FIXTURE

WIRE CONNECTIONS

2A. WITH FIXTURE TO THE LEFT INSTALLED, REPEAT STEP 1 TO INSTALL NEXT FIXTURE.

2B. MAKE WIRE CONNECTIONS & TUCK INTO END OF FIXTURE, ONE AT A TIME.

LITECONTROL comcn

CAUTION: INSTALL FIXTURES IN ROW ONE BY ONE. DO NOT ASSEMBLE FIXTURES ON GROUND AND LIFT INTO PLACE. DO NOT MODIFY OR ALTER THIS PRODUCT IN ANY
WAY, OR INSTALL IN ANY FASHION WHICH IS CONTRARY TO THE INSTRUCTIONS CONTAINED HEREIN. IF YOU HAVE ANY QUESTIONS REGARDING THIS PRODUCT OR THE
INSTALLATION OF IT, PLEASE CALL LITECONTROL ENGINEERING AT 781-294-0100

DRAWING: 99009705

REV / DATE: D / 02-21-2025




INSTALLATION INSTRUCTIONS | FIXTURE SERIES: STANCE

MOUNTING TYPE: PENDANT PAGE: 3 OF 12

3: P-SI | ROW JOINING

_ 1/4-20 NUT
O o2
O J 1/4-20 MS
@, °
& 0 R
S) S
o (-
o g Q
[#)
[/
D g S )
S
‘@)
o o
(-] - Q S,
© WIRE
CONNECTIONS
P-S:

3A. ABUTT FIXTURES & USE (2) 1/4-20 MACHINE SCREWS (MS) & NUTS ON ADJACENT FIXTURES TO
LOOSELY SECURE JOINT. TIGHTEN HARDWARE ONCE FIXTURES ARE ALIGNED.
NOTE: ENSURE WIRES ARE NOT PINCHED OR DAMAGED DURING ROW JOINING.

3B. REPEAT STEPS 2 & 3 FOR EACH ADDITIONAL FIXTURE IN ROW. WHEN THE FINAL FIXTURE IN
THE ROW IS INSTALLED, INSTALLATION IS COMPLETE.

3: P-ID/P-1/P-D| ROW JOINING

1/4-20 NUT

WIREWAY
COVER 1/4-20 MS

#8-32 SMS

CONNECTIONS

FLANGES ON
WIREWAY COVER

EXTRUSION
END PLATE

EXTRUSION

P-ID/P-1/P-D:
3A. REMOVE #8-32 SHEETMETAL SCREWS (SMS) & WIREWAY COVERS.

3B. ABUTT FIXTURES & USE (2) 1/4-20 MACHINE SCREWS (MS) & NUTS ON ADJACENT FIXTURES TO LOOSELY
SECURE JOINT. TIGHTEN HARDWARE ONCE FIXTURES ARE ALIGNED.
NOTE: ENSURE WIRES ARE NOT PINCHED OR DAMAGED DURING ROW JOINING.

3C. REATTACH WIREWAY COVERS WITH ORIGINAL HARDWARE. IT IS CRITICAL THE FLANGES ON THE WIREWAY
COVERS HOOK OVER THE EXTRUSION END PLATES.
NOTE: ENSURE WIRES ARE NOT PINCHED OR DAMAGED WHILE REATTACHING COVERS.

3D. REPEAT STEPS 2 & 3 FOR EACH ADDITIONAL FIXTURE IN ROW. WHEN THE FINAL FIXTURE IN THE ROW IS
INSTALLED, INSTALLATION IS COMPLETE.

WAY, OR INSTALL IN ANY FASHION WHICH IS CONTRARY TO THE INSTRUCTIONS CONTAINED HEREIN. IF YOU HAVE ANY QUESTIONS REGARDING THIS PRODUCT OR THE

LlTECONTROL CAUTION: INSTALL FIXTURES IN ROW ONE BY ONE. DO NOT ASSEMBLE FIXTURES ON GROUND AND LIFT INTO PLACE. DO NOT MODIFY OR ALTER THIS PRODUCT IN ANY DRAWING: 99009705
litecontrol.com

INSTALLATION OF IT, PLEASE CALL LITECONTROL ENGINEERING AT 781-294-0100

REV / DATE: D / 02-21-2025




OPTIONAL INSTRUCTIONS FIXTURE SERIES: STANCE MOUNTING TYPE: PENDANT PAGE: 4 OF 12

4 | END CAP REMOVAL

5 | LIGHT ENGINE ASSEMBLY REMOVAL

C/O LED ARRAYS & DRIVERS P-SI | P-ID/P-I/P-D
® LIGHT ENGINE LIGHT ENGINE
LENS STOP ASSEMBLY | ASSEMBLY

[=) 5 2 ” g’

! NOTCH IN
EXTRUSION
END PLATE

4A. PSI: REMOVE END CAP BY UNFASTENING (2) #8-32 HEX

NUTS.

PID: REMOVE WIREWAY COVER PER STEP 3A THEN REMOVE
END CAP BY UNFASTENING (2) #8-32 HEX NUTS.
REATTACH WIREWAY COVER PER STEP 3C.

HOUSING

5A. PSI: REMOVE #8-32 SHEETMETAL SCREWS (SMS).
PID: REMOVE WIREWAY COVERS PER STEP 3A.

5B. USE CAUTION LIFTING THE LIGHT ENGINE ASSEMBLY FROM HOUSING. DISCONNECT WIRING AS
NEEDED, ENSURING POWER TO FIXTURE IS OFF.

5C. SEE STEP 6 FOR DRIVER REPLACEMENT & STEP 7 FOR LED REPLACEMENT.

5D. PSI: REATTACH LIGHT ENGINE ASSEMBLY WITH ORIGINAL HARDWARE.

NOTE1: ENSURE WIRES ARE NOT PINCHED OR DAMAGED DURING PROCESS.

NOTEZ2: ENSURE LENS IN CENTERED BETWEEN LIGHT ENGINE ASSEMBLIES, UNDER LENS STOPS.
REFERENCE CROSS SECTIONS ON PAGE 1.

PID: REATTACH LIGHT ENGINE ASSEMBLY BY REINSTALLING WIREWAY COVERS PER STEP 3C.

NOTE1: ENSURE WIRES ARE NOT PINCHED OR DAMAGED DURING PROCESS.

NOTEZ: FOR PL, ENSURE LENS IN CENTERED UNDER NOTCH IN EXTRUSION END PLATES.
FOR AR, ENSURE LENS IS PRESS-FIT INTO BOTTOM OF EXTRUSION.
REFERENCE CROSS SECTIONS ON PAGE 1.

LITECONTROL comcn

CAUTION: INSTALL FIXTURES IN ROW ONE BY ONE. DO NOT ASSEMBLE FIXTURES ON GROUND AND LIFT INTO PLACE. DO NOT MODIFY OR ALTER THIS PRODUCT IN ANY DRAWING: 99009705
WAY, OR INSTALL IN ANY FASHION WHICH IS CONTRARY TO THE INSTRUCTIONS CONTAINED HEREIN. IF YOU HAVE ANY QUESTIONS REGARDING THIS PRODUCT OR THE -

INSTALLATION OF IT, PLEASE CALL LITECONTROL ENGINEERING AT 781-294-0100 REV /| DATE: D/ 02-21-2025




OPTIONAL INSTRUCTIONS

FIXTURE SERIES: STANCE

6 | LED REPLACEMENT

MOUNTING TYPE: PENDANT

PAGE: 5 OF 12

#6-20 SMS

R ==\ mm O
EIODDDEID

O o [e) & [e) [e) [¢) [e]
|||:||:||:||:||:||:||||:|O|:|nnnnllnnnnnnlln%nnn

P-SI \
SIDE VIEW LIGHT ENGINE

ASSEMBLY

o}

LIGHT ENGINE

ASSEMBLY
#6-20 SMS

SCREW
CHANNEL

6" MAX

N \
“ \
=] @EI —EIAEI— =] o =]

{

T

\

LSCREW

CHANNEL

|||:||:||:||:||:|nllnénnnnn”nnnnnn“n
o o o o o o ]

DOWNLIGHT & UPLIGHT STD
BOTTOM VIEW

UPLIGHT LPA

FRONT VIEW

P-ID/P-I/P-D

6A. PSI: BEGINNING AT ONE-END OF FIXTURE, SECURE LED BOARD TO LIGHT ENGINE

ASSEMBLY THROUGH PRE-DRILL HOLES USING #6-20 SHEETMETAL SCREWS (SMS).
PID: BEGINNING AT ONE-END OF FIXTURE, SECURE LED BOARD TO SCREW CHANNEL
IN LIGHT ENGINE ASSEMBLY WITH #6-20 SHEETMETAL SCREWS (SMS).

FOR DOWNLIGHT & UPLIGHT STD, ENSURE THE LEDS ARE CENTERED IN OPENING
(SCREW CHANNELS ARE OFFSET).

SCREW LOCATIONS MUST NOT BE FURTHER THAN 6" APART.
NOTE: FOR BEST RESULTS, FLATTEN LED BOARD AGAINST LIGHT ENGINE BEFORE

ATTACHING SUBSEQUENT SCREWS. DO NOT OVERTIGHTEN LED SCREWS. USE
CAUTION NOT TO DAMAGE LEDS.

LITECONTROL comcn

7/ | DRIVER REPLACEMENT

\g °

#8-32 HEX NUT P-S|

BOTTOM VIEW

#10-16 WASHER-HEAD SMS
DRIVER

SCREW |
cromi—] P-ID/P-1/P-D

SIDE VIEW

7A. PSI: INSERT #8-32 SHOULDER SCREWS THROUGH CLEARANCE HOLES IN LIGHT
ENGINE ASSEMBLY & SECURE DRIVER WITH #8-32 NUTS.

PID: SECURE DRIVER TO LIGHT ENGINE ASSEMBLY SCREW CHANNEL WITH (2)
#10-16 WASHER-HEAD SHEETMETAL SCREWS (SMS).

LIGHT ENGINE
#8-32 SHOULDER ASSEMBLY
SCREW DRIVER—\

LIGHT ENGINE
ASSEMBLY

CAUTION: INSTALL FIXTURES IN ROW ONE BY ONE. DO NOT ASSEMBLE FIXTURES ON GROUND AND LIFT INTO PLACE. DO NOT MODIFY OR ALTER THIS PRODUCT IN ANY
WAY, OR INSTALL IN ANY FASHION WHICH IS CONTRARY TO THE INSTRUCTIONS CONTAINED HEREIN. IF YOU HAVE ANY QUESTIONS REGARDING THIS PRODUCT OR THE
INSTALLATION OF IT, PLEASE CALL LITECONTROL ENGINEERING AT 781-294-0100

DRAWING: 99009705

REV / DATE: D / 02-21-2025




OPTIONAL INSTRUCTIONS FIXTURE SERIES: STANCE

MOUNTING TYPE: PENDANT

PAGE: 6 OF 12

8 | FEED CORD INSTALL

FEED CORD
WIREWAY
BUSHING - COVER
STRAIN-RELIEF
2 S
P «@
> % o < @ o
> ® <
)
> o
<
LIGHT ENGINE Zs°
S LIGHT ENGINE
P-SI P-ID/P-I/P-D

8A. PSI: REMOVE 5/8" KNOCKOUT IN LIGHT ENGINE & INSERT BUSHING.
PID: REMOVE 5/8" KNOCKOUT IN WIREWAY COVER & INSERT BUSHING.

8B. INSERT FEED CORD IN BUSHING AND THROUGH STRAIN-RELIEF CLAMP.

8C. PSI: SECURE STRAIN-RELIEF CLAMP TO LIGHT ENGINE WITH #8-32 SHOULDER
SCREW & #8-32 HEX NUT.
PID: SECURE STRAIN-RELIEF CLAMP TO LIGHT ENGINE WITH #10-16 MACHINE
SCREW (MS).

NOTE: FOR NON-EMERGENCY FIXTURES, STRAIN-RELIEF CLAMP IN STEPS 8B & 8C
CAN BE REPLACED WITH TYING A KNOT IN FEED CORD WITHIN WIREWAY.

9 | DUST COVER REMOVAL

DUST COVER
P-SI
LIGHT ENGINE
MATTE-SIDE OF DCF
DUST COVER = \ r/ ,q,A\
\‘% —An =@
P-ID/P-1/P-D [ )
COMPONENTS REMOVED FOR CLARITY
EXTRUSION
CHANNEL
LIGHT ENGINE /
DETAILA

9A. PSI: REMOVE (2) #10-16 MACHINE SCREW (MS) ALONG LENGTH OF
LIGHT ENGINE & LOOSEN (2) #10-16 MS ALONG OPPOSITE LENGTH
OF LIGHT ENGINE.

PID: PRY OUT DUST COVER FROM END OF LIGHT ENGINE USING A NON-MARRING
TOOL. TO RE-INSERT DUST COVER, GENTLY PRESS WITH FINGERS INTO
EXTRUSION CHANNELS ALONG LENGTH. FOR DCF, MATTE-SIDE IS ROOM-
SIDE.

LITECONTROL comcn

INSTALLATION OF IT, PLEASE CALL LITECONTROL ENGINEERING AT 781-294-0100

CAUTION: INSTALL FIXTURES IN ROW ONE BY ONE. DO NOT ASSEMBLE FIXTURES ON GROUND AND LIFT INTO PLACE. DO NOT MODIFY OR ALTER THIS PRODUCT IN ANY
WAY, OR INSTALL IN ANY FASHION WHICH IS CONTRARY TO THE INSTRUCTIONS CONTAINED HEREIN. IF YOU HAVE ANY QUESTIONS REGARDING THIS PRODUCT OR THE

DRAWING: 99009705

REV / DATE: D / 02-21-2025




’ z .
INSTRUCTIONS D’INSTALLATION)| SERIE DE LUMINAIRES : STANCE TYPE DE POSE : SUSPENSION PAGE: 7 DE 12
TABLEAU DES POIDS DES LUMINAIRES QUANTITE BOITES DE JONCTION DE TIGE
199.7mm S| ID/1/D CIreuiTs |GRADATION VEILLEUSE / SPECTRASYNC QT BOITES |
177.8mm LONGUEUR| TYPIQUE (kg) | MAX(kg) | TYPIQUE (kg) | MAX (kg) / DALI URGENCE (-2765T)
g ’% 2' 2.9 3.4 3.9 4.5 1C NON NEANT, EF, NL, EF+NL NON 1
+ + 3 4.3 4.8 5.7 6.1 1C oul NEANT NON 1
U 4 5.0 5.7 6.4 7.3 1C oul EF, NL, EF+NL NON 2
44.5mm 56.2mm 6' 6.8 7.7 8.6 10.0 1C oul NEANT, NL oul 2
8 8.2 8.8 10.4 11.6 2C NON NEANT NON 1
2C NON EF NON 2
* VUE EN COUPE VUE EN COUPE * 2C oul NEANT, EF NON 2
PL PSI N
AR PSI 2C oul NEANT oul 2
X POUR 2C AVEC NL, VOIR LA QUANTITE DE BOITES DE JONCTION DANS LE
COUVERCLE ANTIPOUSSIERE (FACULTATIF) g EOOU\F{(E)TJCRLEQNWOUSS'ERE (FACULTATIF) INDIVIDUEL (IND)
% /75.0. o B ~——""—"FA = GUEUR DU LUMINAIRE MOINS 14.3mm———
EU§ 5:; Zu" C 0 P = GUEUR DU LUMINAIRE MOINS 25.4mm T
X ] NE PAS DEPASSER 5° I
J CABLE D'AERONEFJ/ CORDON D’ALIMENTATION APRES L'INSTALLATION
VUE EN COUPE “—LENTILLE S.0.POURPI VUE EN COUPE LENTILLE S.0. POUR PI TIGE (ACC)
PL PID/PI/PD COTE MAT VISIBLE DU COTE PIECE AR PID/PI/PD COTE MAT VISIBLE DU COTE PIECE , i i
OPTION LPA ILLUSTREE A TITRE DE REFERENCE OPTION STD ILLUSTREE A TITRE DE REFERENCE
% VUE DE COTE

LUMINAIRE MONTE INDIVIDUELLEMENT

DE EE E (EORL . ,
FIN DE RANGEE GAUCHE (EORL) INTERMEDIAIRE (INT) FIN DE RANGEE DROITE (EORR)

FA = LONGUEUR DU LUMINAIRE MOINS 14.3mm LONGUEUR DU LUMINAIRE LONGUEUR DU LUMINAIRE -

P = LONGUEUR DU LUMINAIRE MOINS 25.4mm i - -
NE PAS DEPASSER 5° ,\_\
CORDON D’ALIMENTATION CABLE D’AERONEF APRES L'INSTALLATION '
(ACC)
A I A I
REMARQUES GENERALES : VUE DE COTE

LIRE CES FICHES EN ENTIER AVANT DE COMMENCER.
1. LAISSER LE MATERIAU D’EMBALLAGE PROTECTEUR SUR LES LUMINAIRES JUSQU’AU DEBUT DE L'INSTALLATION AFIN DE PROTEGER LA FINITION.
2. SI LA LENTILLE S’EST DELOGEE DURANT LE TRANSPORT, APPUYER DOUCEMENT MAIS FERMEMENT DESSUS POUR LA REMETTRE EN PLACE. SINON, SE REPORTER A

L’ETAPE 5.

3. FA FAIT REFERENCE A LA SUSPENSION PAR CABLE ET CORDON. P FAIT REFERENCE A LA SUSPENSION PAR TIGE.
4. VOIR FICHES D’INSTRUCTIONS SUPPLEMENTAIRE: N° 510401 POUR LES RACCORDEMENTS ELECTRIQUES, 510541-08 POUR LES SUSPENSION PAR CABLE, 99009870

POUR SUSPENSION A TIGE.

5. FA UNIQUEMENT : SUR LES LUMINAIRES INDIVIDUELS, LE CORDON D’ALIMENTATION EST INSTALLE EN USINE A L'EXTREMITE GAUCHE DU LUMINAIRE INDIVIDUEL
(VISIBLE SUR LA VUE DE COTE). SUR LES LUMINAIRES MONTES EN RANGEE, LE CORDON D’ALIMENTATION EST INSTALLE EN USINE UNIQUEMENT A L’EXTREMITE
GAUCHE DU LUMINAIRE DE FIN DE RANGEE GAUCHE (VISIBLE SUR LA VUE DE COTE). S'ILY A LIEU, DES CORDONS D’ALIMENTATION SUPPLEMENTAIRES SONT
FOURNIS PAR LITECONTROL ET MONTES SUR LE CHANTIER PAR L’INSTALLATEUR.

6. P UNIQUEMENT : CABLAGE POUR SUSPENSION PAR TIGE FOURNI PAR LITECONTROL ET INSTALLE SUR PLACE PAR L'ENTREPRENEUR. LA TIGE ACCEPTE 5

CONDUCTEURS AU MAXIMUM.

7. POUR L'OPTION BATTERIE (-EF), LA HAUTEUR MAXIMALE DE POSE DU LUMINAIRE A PARTIR DU SOL EST DE 2,8 m (9,2 pi) POUR SI ET DE 5,15 m (16,9 pi) POUR ID/D.

EF NON PROPOSE POUR I.

LUMINAIRES MONTES EN RANGEE

OUTILS NECESSAIRES

FOURNITURES

PAR L’INSTALLATEUR

- PERCEUSE-VISSEUSE

- TOURNE-ECROU DE 1/4 po
- TOURNE-ECROU OU CLE DE 3/8 po
- TOURNE-ECROU OU CLEDE 7/16 po

- PINCE A BEC EFFILE
- NIVEAU A BULLE

LITECONTROL concn

ATTENTION : INSTALLER LES LUMINAIRES EN RANGEE UN PAR UN. NE PAS ASSEMBLER LES LUMINAIRES AU SOL ET NE PAS LES LEVER EN PLACE. NE PAS MODIFIER NI
ALTERER CE PRODUIT, NI L'INSTALLER D’'UNE FACON CONTRAIRE AUX INSTRUCTIONS DE CE DOCUMENT. POUR TOUTE QUESTION CONCERNANT CE PRODUIT OU SON
INSTALLATION, APPELER LITECONTROL ENGINEERING AU 781-294-0100

DESSIN : 99009705

REV / DATE: D / 02-21-2025




INSTRUCTIONS D’INSTALLATION| SERIE DE LUMINAIRES : STANCE TYPE DE POSE : SUSPENSION PAGE: 8 DE 12

1 | SUSPENSION COUVERCLE DE 2 | RACCORDEMENTS ELECTRIQUES

GOULOTTE

#8-32 SMS GUIDE-FILS

CABLE D’AERONEF
(ACC)

SERRE-CABLE

SORTIE PAR LE BAS COMPARTIMENT

DE CABLAGE OBLONG DU

BOITIER
ACC DEPASSE DE

3A 13 mm (1/8 A 1/2 po)
(COUPER L’EXCEDENT)

—EXTREMITE DU
LUMINAIRE
1/8IP NUT P UNIQUEMENT
FA UNIQUEMENT
CABLE D’AERONEF (ACC): TIGE (P):
REMARQUE : POUR LES LUMINAIRES MONTES EN RANGEE, REMARQUE : POUR LES LUMINAIRES MONTES EN RANGEFE,
COMMENCER PAR LE LUMINAIRE EORL. COMMENCER PAR LE LUMINAIRE EORL. RACCORDEMENTS
A n 5 - ELECTRIQUES
1A. COUPER LE CABLE D’AERONEF (ACC) A LA LONGUEUR 1A. PASSER A L’ETAPE 3A POUR ENLEVER LE COUVERCLE DE LA
SOUHAITEE. GOULOTTE GUIDE-FILS AUX EMPLACEMENTS DES TIGES.

1B. SOULEVER LE LUMINAIRE ET ENFILER L’ACC DANS LE SERRE- 1B. VOIR A LA FICHE D’INSTRUCTION DES TIGES N° 99009870.

CABLE. A .
2A. UNE FOIS LE LUMINAIRE DE GAUCHE INSTALLE, REPETER L’ETAPE 1 POUR INSTALLER LE
REMARQUE : LITECONTROL RECOMMANDE DE FAIRE 1C. SOULEVER LE LUMINAIRE ET TIRER LES FILS SORTANT DE LA LUMINAIRE SUIVANT
DEPASSER L’ACCDE 3 A 13 mm (1/8 A 1/2 po) TIGE A TRAVERS LE TROU OBLONG DU BOITIER.
HORS DU SERRE-CABLE. . o e
. . 2B. RACCORDER LES FILS ELECTRIQUES ET LES FAIRE RENTRER DANS L'EXTREMITE DU LUMINAIRE,
A ] 1D. ATTACHER LE LUMINAIRE A LA TIGE AVEC UN ECROU 1/8IP. UN A LA FOIS
1C. AJUSTER LE SERRE-CABLE LATERALEMENT ET LA LONGUEUR AJUSTER LE LUMINAIRE D’UN COTE A AUTRE POUR LE '
DE L’ACC POUR METTRE LE LUMINAIRE DE NIVEAU. SERRER METTRE DE NIVEAU.

TOUTES LES PINCES.
1E. EFFECTUER LES RACCORDEMENTS ELECTRIQUES ET

1D. VOIR A LA FICHE D’INSTRUCTION DU CABLE N° 510541. RENTRER LES CONDUCTEURS DANS LE COMPARTIMENT DE
CABLAGE.
1E. POUR LES LUMINAIRES INDIVIDUELS, L'INSTALLATION EST
TERMINEE. POUR LES LUMINAIRES MONTES EN RANGEE, 1F. POUR LES LUMINAIRES INDIVIDUELS, PASSER A L’'ETAPE 3C
PASSER A L'ETAPE 2. POUR TERMINER L'INSTALLATION EN RATTACHANT LE

COUVERCLE DE GOULOTTE GUIDE-FILS.
POUR LES LUMINAIRES MONTES EN RANGEE, PASSER A
L’ETAPE 2.

ATTENTION : INSTALLER LES LUMINAIRES EN RANGEE UN PAR UN. NE PAS ASSEMBLER LES LUMINAIRES AU SOL ET NE PAS LES LEVER EN PLACE. NE PAS MODIFIER NI DESSIN : 99009705

LlTECONTROL N ALTERER CE PRODUIT, NI L'INSTALLER D'UNE FAGON CONTRAIRE AUX INSTRUCTIONS DE CE DOCUMENT. POUR TOUTE QUESTION CONCERNANT CE PRODUIT OU SON .
HecomoleOM | INSTALLATION, APPELER LITECONTROL ENGINEERING AU 781-294-0100 REV / DATE: D / 02-21-2025




INSTRUCTIONS D’INSTALLATION| SERIE DE LUMINAIRES : STANCE TYPE DE POSE : SUSPENSION PAGE: 9 DE 12

3: P-SI| CABLE D’AERONEF 3: P-ID/P-1/P-D | CABLE D’AERONEF

COUVERCLE DE 1/4-20 ECROU

#8-32 SMS GOULOTTE GUIDE-FILS
(4] 0 o
° Z 1/4-20 MS
_ 1/4-20 ECROU - S
o 0 [\
e@o Z 049 g 1/4-20 MS - @ ° @ O
e, ° Z Q
° S
0 D °
®® = Cw PN
o =) °
= Z ¢ © RACCORDEMENTS
1124 N S ELECTRIQUES
S
o
o > BRIDES SUR LE
©° s °©_2 COUVERCLE DE GOULOTTE
RACCORDEMENT
S ELECTRIQUES PROFILE PROFILE
PLAQUE DE
BOUT
P-SI:
P-ID/P-1/P-D :
3A. PLACER LES LUMINAIRES BOUT A BOUT ET LES ATTACHER LACHEMENT L'UN A L’AUTRE AVEC
DEUX (2) VIS MECANIQUES (MS) DE 1/4-20 ET ECROUS. SERREZ LE MATERIEL UNE FOIS LES 3A. RETIRER LES VIS A TOLE (SMS) #8-32 ET LES COUVERCLES DE GOULOTTE GUIDE-FILS.
LUMINAIRES ALIGNES
REMARQUE : VERIFIER QUE LES FILS NE SONT PAS PINCES NI ENDOMMAGES LORS DE 3B. LES LUMINAIRES BOUT A BOUT ET LES ATTACHER LACHEMENT L'UN A L’AUTRE AVEC
L’ASSEMBLAGE DES RANGEES. DEUX (2) VIS MECANIQUES (MS) DE 1/4-20 ET ECROUS. SERREZ LE MATERIEL UNE FOIS LES
LUMINAIRES ALIGNES
3B. REPETER LES ETAPES 2 ET 3 POUR CHAQUE LUMINAIRE SUPPLEMENTAIRE DE LA RANGEE. UNE REMARQUE : VERIFIER QUE LES FILS NE SONT PAS PINCES NI ENDOMMAGES LORS DE
FOIS QUE LE DERNIER LUMINAIRE DE LA RANGEE EST INSTALLE, L'INSTALLATION EST TERMINEE. L’ASSEMBLAGE DES RANGEES.

3C. REMONTER LES COUVERCLES DE GOULOTTE GUIDE-FILS AVEC LA VISSERIE D’ORIGINE. IL EST
ESSENTIEL QUE LES BRIDES DES COUVERCLES DE GOULOTTE S’ACCROCHENT AUX PLAQUES DE
BOUT DU PROFILE.
REMARQUE : VERIFIER QUE LES FILS NE SONT PAS PINCES NI ENDOMMAGES LORS DU REMONTAGE
DES COUVERCLES.

3D. REPETER LES ETAPES 2 ET 3 POUR CHAQUE LUMINAIRE SUPPLEMENTAIRE DE LA RANGEE. UNE FOIS QUE
LE DERNIER LUMINAIRE DE LA RANGEE EST INSTALLE, L'INSTALLATION EST TERMINEE.

ALTERER CE PRODUIT, NI L'INSTALLER D’'UNE FACON CONTRAIRE AUX INSTRUCTIONS DE CE DOCUMENT. POUR TOUTE QUESTION CONCERNANT CE PRODUIT OU SON

C N ATTENTION : INSTALLER LES LUMINAIRES EN RANGEE UN PAR UN. NE PAS ASSEMBLER LES LUMINAIRES AU SOL ET NE PAS LES LEVER EN PLACE. NE PAS MODIFIER NI DESSIN : 99009705
|_|TE O TROI_ litecontrol.com

INSTALLATION, APPELER LITECONTROL ENGINEERING AU 781-294-0100 REV / DATE: D/ 02-21-2025




INSTRUCTIONS FACULTATIVES

SERIE DE LUMINAIRES : STANCE

TYPE DE POSE : SUSPENSION

PAGE: 10 DE 12

4 | DEMONTAGE DE LA PLAQUE DE BOUT

ECROU

HEXAGONAL PLAQUE DE BOUT

P-ID/P-I/P-D

4A. PSI: DEVISSER LES DEUX (2) ECROUS HEXAGONAUX #8-32
POUR DEMONTER LA PLAQUE DE BOUT.

PID: DEMONTER LE COUVERCLE DE GOULOTTE GUIDE-FILS
(ETAPE 3A), PUIS DEVISSER LES DEUX (2) ECROUS
HEXAGONAUX #8-32 POUR DEMONTER LA PLAQUE DE
BOUT. REMONTER LE COUVERCLE DE GOULOTTE GUIDE
FILS (ETAPE 3C).

5 | DEMONTAGE DU MOTEUR D’ECLAIRAGE

LAMPES A DEL ET PILOTES C/O

P-SI . P-ID/P-I/P-D
MOTEUR ~ MOTEUR
D’ECLAIRAGE , D’ECLAIRAGE

ENCOCHE
DANS LA
| PLAQUE DE
BOUT DU
PROFILE

5A. PSI: RETIRER LES VIS A TOLE (SMS) #8-32.
PID: RETIRER LES COUVERCLES DE GOULOTTE GUIDE-FILS (ETAPE 3A).
5B. AVEC PRECAUTION, SOULEVER LE MOTEUR D’ECLAIRAGE HORS DU BOITIER. DEBRANCHER LE
CABLAGE COMMIE IL SE DOIT, EN S’ASSURANT QUE L’ALIMENTATION DU LUMINAIRE EST COUPEE.
5C. VOIR LE REMPLACEMENT DES DELA L’ETAPE 6 ET LE REMPLACEMENT DU PILOTE A L'ETAPE 7.
5D. PSI: RATTACHER LE MOTEUR D’ECLAIRAGE AVEC LA VISSERIE D’ORIGINE.
REMARQUE 1 : VERIFIER QUE LES FILS NE SONT PAS PINCES NI ENDOMMAGES LORS DE
L’OPERATION.
REMARQUE 2 : VERIFIER QUE LA LENTILLE EST CENTREE ENTRE LES MOTEURS D’ECLAIRAGE,
SOUS LES BUTEES DE LENTILLE. SE REPORTER A LA VUE EN COUPE A LA PAGE 1.
PID: REMONTER LES COUVERCLES DE GOULOTTE GUIDE-FILS (ETAPE 3C) POUR RATTACHER LE
MOTEUR D’ECLAIRAGE.
REMARQUE 1 : VERIFIER QUE LES FILS NE SONT PAS PINCES NI ENDOMMAGES LORS DE
L’OPERATION.
REMARQUE 2 : SUR LE MODELE PL, VERIFIER QUE LA LENTILLE EST CENTREE SOUS L’ENCOCHE
DES PLAQUES DE BOUT DU PROFILE. SUR LE MODELE AR, VERIFIER QUE LA
LENTILLE EST EMBOITEE DANS LE FOND DU PROFILE. SE REPORTER A LA VUE EN
COUPE A LA PAGE 1.

BOITIER

LITECONTROL concn

ATTENTION : INSTALLER LES LUMINAIRES EN RANGEE UN PAR UN. NE PAS ASSEMBLER LES LUMINAIRES AU SOL ET NE PAS LES LEVER EN PLACE. NE PAS MODIFIER NI
ALTERER CE PRODUIT, NI L'INSTALLER D’UNE FACON CONTRAIRE AUX INSTRUCTIONS DE CE DOCUMENT. POUR TOUTE QUESTION CONCERNANT CE PRODUIT OU SON
INSTALLATION, APPELER LITECONTROL ENGINEERING AU 781-294-0100

DESSIN : 99009705

REV / DATE: D / 02-21-2025




PAGE: 11 DE 12

TYPE DE POSE : SUSPENSION

INSTRUCTIONS FACULTATIVES | SERIE DE LUMINAIRES : STANCE

/7 | REMPLACEMENT DU PILOTE

6 | REMPLACEMENT DES DEL

[¢]

#6-20 SMS - MOTEUR
VIS A EPAULEMENT #8-32 D'ECLAIRAGE
/ PILOTE

® == S == O O o [e) & [e) [¢) [¢)
EIODDDEII:|||E|E|EII:|E|E|||EIOE|E|E|EIDllDDEIDDDllEI@DDDEI

P-Sl LMOTEUR

VUE DE COTE D’ECLAIRAGE
ECROU HEXAGONAL P-SI
#8-32 VUE DU DESSOUS
MOTEUR
D’ECLAIRAGE CANAL DE
#6-20 SMS VISSAGE
—=] [=5.72mmmm ~ 152 4mmmm MAX SMS A TETE A EMBASE #10-16 MOTEUR
D’ECLAIRAGE
PILOTE
\ J
“ \
(o)
n@n_nﬂn-nonl ||:|°|:|° O o |:|°|:|| ||:|é|:| O O |:|°|:|| ||:|°|:| O o |:|°|:|| ||:|@|:| [=] y
CANAL DE
d\ VISSAGE P-ID/P-I/P-D
i VUE DE COTE
\ CANAL DE STD ECLAIRAGE VERS LE BAS ET LE HAUT LPA ECLAIRAGE VERS LE HAUT
VISSAGE VUE DU DESSOUS VUE DE FACE
P-ID/P-1/P-D
7A. PSI: INSERER LES VIS A EPAULEMENT #8-32 DANS LES TROUS DE DEGAGEMENT DU MOTEUR

6A. PSI: EN COMMENCANT PAR L’UN DES BOUTS DU LUMINAIRE, ATTACHER LA CARTE DE D’ECLAIRAGE ET ATTACHER LE PILOTE AVEC DES ECROUS #8-32.
DEL AU MOTEUR D’ECLAIRAGE AVEC DES VIS A TOLE (SMS) #6-20 A TRAVERS LES PID: ATTACHER LE PILOTE AU CANAL DE VISSAGE DU MOTEUR D’ECLAIRAGE AVEC DEUX (2)
TROUS PREPERCES. VIS A TOLE (SMS) A TETE A EMBASE #10-16.

PID: EN COMMENCANT PAR L’UN DES BOUTS DU LUMINAIRE, ATTACHER LA CARTE DE
DEL AU CANAL DE VISSAGE DU MOTEUR D’ECLAIRAGE AVEC DES VIS A TOLE (SMS)
#6-20. SUR LE STD A ECLAIRAGE VERS LE BAS ET LE HAUT, VERIFIER QUE LES DEL
SONT CENTRES DANS L’OUVERTURE (LES CANAUX DE VISSAGE SONT DECALES).
LES VIS NE DOIVENT PAS ETRE ESPACEES DE PLUS DE 15 cm (6 po).

REMARQUE : POUR OBTENIR DE MEILLEURS RESULTATS, APPUYER LA CARTE DE DEL A

PLAT CONTRE LE MOTEUR D’ECLAIRAGE AVANT DE POSER LES VIS
SUIVANTES. NE PAS TROP SERRER LES VIS DES DEL. PRENDRE GARDE DE

NE PAS ENDOMMAGER LES DEL.
ATTENTION : INSTALLER LES LUMINAIRES EN RANGEE UN PAR UN. NE PAS ASSEMBLER LES LUMINAIRES AU SOL ET NE PAS LES LEVER EN PLACE. NE PAS MODIFERNI | DESSIN : 99009705
LlTECONTROL econtl ALTERER CE PRODUIT, NI L'INSTALLER D’'UNE FACON CONTRAIRE AUX INSTRUCTIONS DE CE DOCUMENT. POUR TOUTE QUESTION CONCERNANT CE PRODUIT OU SON n
fecomtioleom | INSTALLATION, APPELER LITECONTROL ENGINEERING AU 781-294-0100 REV / DATE: D/ 02-21-2025




INSTRUCTIONS FACULTATIVES | SERIE DE LUMINAIRES : STANCE

TYPE DE POSE : SUSPENSION PAGE: 12 DE 12

8 | POSE DU CORDON D’ALIMENTATION

CORDON D’ALIMENTATION

COUVERCLE
BAGUE > DE GOULOTTE
GUIDE-FILS
BRIDE DE CORDON 2 S
P «@
> % o < @ o
> ® <
)
°c &
<
MOTEUR Zs°
D’ECLAIRAGE 3
MOTEUR
D’ECLAIRAGE
P-SI P-ID/P-I/P-D

8A. PSI: RETIRER L’OPERCULE DEFONCABLE DE 5/8 po DU MOTEUR D’ECLAIRAGE ET INSERER LA BAGUE.
PID: RETIRER L’'OPERCULE DEFONCABLE DE 5/8 po DE LA GOULOTTE GUIDE-FILS ET INSERER LA BAGUE.

8B. TIRER LE CORDON D’ALIMENTATION A TRAVERS LA BAGUE ET A TRAVERS LA BRIDE DE CORDON.
8C. PSI: ATTACHER LA BRIDE DE CORDON AU MOTEUR D’ECLAIRAGE AVEC UNE VIS A EPAULEMENT #8-32
ET UN ECROU HEXAGONAL #8-32.
PID: ATTACHER LA BRIDE DE CORDON AU MOTEUR D’ECLAIRAGE AVEC UNE VIS MECANIQUE (MS) #10-16.

REMARQUE : POUR LES LUMINAIRES NON URGENTS, CORDON D’ALIMENTATION DES ETAPES 8B ET 8C PEUT
ETRE REMPLACEE EN FAISANT UN NCEUD DANS LE CORDON D'ALIMENTATION DANS LE CHEMIN DE FILS.

9 | DEMONTAGE DU COUVERCLE ANTIPOUSSIERE

COUVERCLE
ANTIPOUSSIERE
P-SI
MOTEUR D’ECLAIRAGE
COTE MAT DU DCF
COUVERCLE _ \ 7N
N 1 [

ANTIPOUSSIERE Lgtr J—— ﬂL

P-ID/P-1/P-D / \

A COMPOSANTS SUPPRIMES POUR PLUS DE CLARTE
PROFIL
/—d‘éiD'EXTRUSION
]
MOTEUR DETAILA

D’ECLAIRAGE

9A. PSI: RETIRER DEUX (2) VIS MECANIQUES (MS) #10-16 LE LONG DU MOTEUR
D’ECLAIRAGE ET DESSERRER DEUX (2) MS #10-16 LE LONG DU COTE
OPPOSE DU MOTEUR D’ECLAIRAGE.

PID: EXTRAIRE LE COUVERCLE ANTIPOUSSIERE A PARTIR D’UNE EXTREMITE DU
MOTEUR D’ECLAIRAGE A L’AIDE D’UN OUTIL NON MARQUANT. POUR
REMETTRE LE COUVERCLE ANTIPOUSSIERE EN PLACE, L'ENFONCER SANS
FORCER DANS LES PROFILES SUR TOUTE LA LONGUEUR. SUR LE MODELE
DCF, LA FACE MATTE EST DU COTE DE LA PIECE.

LITECONTROL concn

INSTALLATION, APPELER LITECONTROL ENGINEERING AU 781-294-0100

ATTENTION : INSTALLER LES LUMINAIRES EN RANGEE UN PAR UN. NE PAS ASSEMBLER LES LUMINAIRES AU SOL ET NE PAS LES LEVER EN PLACE. NE PAS MODIFIER NI
ALTERER CE PRODUIT, NI L'INSTALLER D’UNE FACON CONTRAIRE AUX INSTRUCTIONS DE CE DOCUMENT. POUR TOUTE QUESTION CONCERNANT CE PRODUIT OU SON

DESSIN : 99009705

REV / DATE: D / 02-21-2025




	99009705_PG1.pdf (p.1)
	Sheet1
	Drawing View2
	Drawing View3
	Drawing View5
	Drawing View7
	Drawing View8
	Drawing View9


	99009705_PG2.pdf (p.2)
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


	99009705_PG3.pdf (p.3)
	Sheet1
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View8
	Drawing View9


	99009705_PG4.pdf (p.4)
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4


	99009705_PG5.pdf (p.5)
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View4
	Drawing View5
	Drawing View8


	99009705_PG6.pdf (p.6)
	Sheet1
	Drawing View3
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Detail View A (2 : 1)


	99009705_PG7-PG12.pdf (p.7-12)
	Sheet7
	Drawing View31
	Drawing View32
	Drawing View33
	Drawing View34
	Drawing View35
	Drawing View36

	Sheet8
	Drawing View37
	Drawing View38
	Drawing View58

	Sheet9
	Drawing View39
	Drawing View40
	Drawing View41
	Drawing View42
	Drawing View43
	Drawing View44

	Sheet10
	Drawing View45
	Drawing View46
	Drawing View47
	Drawing View48

	Sheet11
	Drawing View49
	Drawing View50
	Drawing View51
	Drawing View52
	Drawing View53

	Sheet12
	Drawing View54
	Drawing View55
	Drawing View56
	Drawing View57
	Drawing View59
	Detail View A (2 : 1)



